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Question Number : 1 Question Id : 26723610821 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Ram selected a leap year within 19" century calendars, the probability that his

selection has 53 Saturdays, is

(A) 7

(B) 3/7

(C) 2/7

(D) 5/7
Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 1 Question Id : 26723610821 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

I T 10 df Gl F paex § TH AU q¥ &1 999 fha1, T
e ot & & 579 o # W3 IRER §,

A) 1
(B) 3/7
ey 2&f1
(D) 5/7
Options :

1.¥ A



3.%C

4. % D

Question Number : 2 Question Id : 26723610822 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The largest number which divides 239 & 164, leaving remainders 5 and 8 respectively

is

(A) 13

(B) 78

iy 7

(D) 83
Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 2 Question Id : 26723610822 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Je8 S TO R T 239 3R 164 B oo wxA B, @
AN 5 R 8 I ¥ W ¢

(D} 83
Options :
1. A
2. % B
3.% C

4. % D

Question Number : 3 Question Id : 26723610823 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Four years ago, the ratio of the ages of Seema and Reema was 6 : 5. Four years from

now, the ratio of their ages will be 10 : 9. What is Seema’s age at present?

(C) 12

(D) 14
Options :

1.¥ A



3.%C

4. % D

Question Number : 3 Question Id : 26723610823 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

IR Td Ugd W SR 1 P IY BT UG 6:5 U1 | 3@ ¥ IR I
G IH! S B UG 10:9 B | GoHH H @ B 99 R 32

(A) 16

(D) 14
Options :

1.9 A
2. % B
3.%C

4. % D

Question Number : 4 Question Id : 26723610824 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The sum of first six prime numbers is

(A) 41

(B) 29

(C) 56

(D) 40
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 4 Question Id : 26723610824 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Ugd B8 URH JeRf PT AT § |

(A) 41
(B) 29
(C) 56
(D) 40
Options :
1.¥ A

2. % B

3.% C



4. % D

Question Number : 5 Question Id : 26723610825 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
150 gallons of a mixture contains 40% water. What amount of additional water should

be added such that water content be raised to 65%?

(A) 75gallons

(B) 70gallon

(C) 60gallons

(D) 50gallons
Options :
1.¥A

2. % B
3.%C

4. % D

Question Number : 5 Question Id : 26723610825 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



UH Y0 & 150 T | 40: UHT BT 81 Sifafted gt @t AET B
faT Sirer o afge f& Myor & ot & 76 B e0: dF dom
oz

(&) 75 e

(B) 70 T

(C) 72 TeH

(D) 50 TeH

Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 6 Question Id : 26723610826 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A solid piece of iron in the form of a cuboid of dimensions 49¢m x 33cm x 12¢cm,

is moulded to form a solid hemisphere. The complete surface area of the hemisphere

(in cm?) is:

(A) 1386

(B) 2772

(C) 4158

(D) 5544



Options :
1.9 A
2. % B
3.% C

4. % D

Question Number : 6 Question Id : 26723610826 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

19 Yt x 12 Y x 33 Y UM & TP FalzS & U H T P
TS 39 eI, Tl o1 & U g Wil 81 Mls &1 90 Hag &
o #) 3

(A) 1386

(B) 2772

(C) 4158

(D) 5544
Options :

1.9 A
2. % B
3.%C

4. % D

Question Number : 7 Question Id : 26723610827 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which country won its maiden Under-19 World Cup title, in ICC World cup 2020

cricket tournament?

(A) Afghanistan

(B) Pakistan

(C) Bangladesh

(D) Srilanka
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 7 Question Id : 26723610827 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

IEdrEt fay @9 2020 fbde M ® 59 T F U UgAN 3fER-19
fay $u faae fare

(B)  S(pIRAH
(B) UM
(C) ST
(D)  gfdap
Options :

1.¥ A



3.%C

4. % D

Question Number : 8 Question Id : 26723610828 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Famous Chemical Industry hub “Ankleshwar” is situated in which state?

(A) Madhya Pradesh

(B) Gujarat

(C) Andhra Pradesh

(D) Assam
Options :
1.¥A

2. % B

3. % C

4. % D

Question Number : 8 Question Id : 26723610828 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



URg IEA® 39T g9 r3idasRr fha Tsa # '@ 82

(&) A Uq

(B) ORI

(C) 3y uew

(D) 3EH
Options :

1.¥A
2. % B
3.% C

4. % D

Question Number : 9 Question Id : 26723610829 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
What is the term used when the temperature decreases with increase in height at the

ratio of 1° C for every 100 meters of ascent?

(A) Lapse rate

(B) Convection

(C) Conduction

(D) None of these
Options :

1.¥ A



3.%C

4. % D

Question Number : 9 Question Id : 26723610829 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
9 qUHE 100 e $ IR & o0 1° ¢ & 3FUE H 9% #
gfs & Ty g § O @ Ueg BT SUA fbar o @2

(3] T R

(B) g

(C) Tt

(D) T ¥ FE 74l

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 10 Question Id : 26723610830 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following gases is most predominant in the Sun?

(A) Helium

(B) Hydrogen

(C) Nitrogen

(D) Ozone
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 10 Question Id : 26723610830 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

frofafed & @ oF 4 ™ ¥ 7 99 ugg B

(A) giferaw

®) e

(C) ArEgreH 9

(D) 3

Options :
1.4 A
2. # B

3.% C



4. % D

Question Number : 11 Question Id : 26723610831 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The sun temple is located at

(A) Bhubaneswar

(B) Mahabalipuram

(C) Konark

(D) Mathura
Options:
1.4 A

2. % B

3. % C

4. % D

Question Number : 11 Question Id : 26723610831 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



9 Hfer f&ya @

(R) YR

(D) HYT

Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 12 Question Id : 26723610832 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The electronic configuration of an atom of an element is [Ar]3d'%4s%4p°, The chemistry

of this atom is likely to be similar to:

(A) Boron

(B) Sulphur

(C) Chlorine

(D) Nitrogen
Options :

1.¥ A



3.%C

4. % D

Question Number : 12 Question Id : 26723610832 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

UF dd & WAV F SAGMB 0N [Ar] 3d104s524p5 §, 39 TR
P! TG T 5 THHE 89 B U §:

(&) &RM

Options :
1.9 A
2. % B
3. % C

4. % D

Question Number : 13 Question Id : 26723610833 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following compounds has sp? hybridization:

(A) CO;

(B) BCls

(C) PCls

(D) CHa
Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 13 Question Id : 26723610833 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

froafafed dfel & § 19 W ot e 8:

(A} CO:
(B) BCls
(C) PCls
(D) CH;
Options :
1.¥A

2. % B

3.% C



4. % D

Question Number : 14 Question Id : 26723610834 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is smallest aromatic compound:

(A) cyclopropenyl cation

(B) cyclpropene

(C) cyclobutadiene

(D) benzene
Options:
1.¥A

2. % B

3.%C

4. % D

Question Number : 14 Question Id : 26723610834 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



frafafed & @ o8 o T Bl QWakts 3fie §:

(A) FESMUNT  $eBSH  (cyclopropenyl cation)

(B) H@@fmﬂq (cyclpropene)

(C) ﬂﬁﬁ@%ﬂq (cyclobutadiene)

(D) &M (Benzene)

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 15 Question Id : 26723610835 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Anti-Markonikov’s addition of HBr is not observed in

(A) Propene

(B) But-1-ene

(C) Hex-3-ene

(D) Pent-2-ene
Options :
1.¥ A

2. % B



3.% C

4. % D

Question Number : 15 Question Id : 26723610835 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Ul-ATBIA®Id BT WIS HEr H Tl o@l a1 §

(2) od= (Propene)

(B) §-1-39 (But-l-ene)

(C) BFF-3-F1 (Hex-3-ene)

(D) Yc-2-¥9 (Pent-2-ene)
Options:

1. A
2. % B
3.% C

4. % D

Question Number : 16 Question Id : 26723610836 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statement regarding a molecule containing a chiral carbon is

incorrect?

(A) It has an element of symmetry

(B) The two isomers are non-superimposable

(C) It rotates the plane of polarised light

(D) BothBandC
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 16 Question Id : 26723610836 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

@ fRa $eF o o] & §R H Fuffed s § 9 o9 @@ @

(2) 3H JAEUQ B 99 §

(B) T gErR R-ffRd §

(C) T8 ydipd UH & fHH $ gar §

(D) &t 3R Tt Al

Options :
1.+ A

2. % B



3.% C

4. % D

Question Number : 17 Question Id : 26723610837 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the correct order of increasing acidic strength?

(A) Phenol < p-methoxyphenol < Fluoroacetic acid < Acetic acid

(B) p-methoxyphenol < Phenol < Fluoroacetic acid < Acetic acid

(C) p-methoxyphenol <Phenol < Acetic acid < Fluoroacetic acid

(D) Fluoroacetic acid < Acetic acid < Phenol < p-methoxyphenol
Options:

1.¢A

2. % B

3.% C

4. % D

Question Number : 17 Question Id : 26723610837 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



3T Ui 9g @1 Gel ®H FUfated # ¥ oH 9 82

() R <p-ReiRIBTE <RRRRS TS <RRH 18

(Phenol < p-methoxyphenol < Fluoroacetic acid < Acetic

acid)

(B) p-AYihAG <l <RRIGARCS g <Tfifed e

(p-methoxyphenol < Phenol < Fluoroacetic acid < Acetic

acid)

(C) p-AYfRftIT <fld <uRifess R <wiRITaRes TRre

(p-methoxyphenol < Phenol < Acetic acid < Fluoroacetic

acid)

(D) wiRIGEfed IRe <uRifed TS <fhid <di-Aueiitrd

(Fluoroacetic acid < Acetic acid < Phenol <
p-methoxyphenol)

Options:

1.¥A

2. % B

3.% C

4. % D

Question Number : 18 Question Id : 26723610838 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statements is true about glucose?
(A) Itisan aldopentose.
(B) On heating with HI it forms n-hexane.
(C) Itisonly present in furanose form.

(D) It gives 2,4-DNP test
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 18 Question Id : 26723610838 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

frefofed & § o8 W FF @ & oR 99 8

(A) g TP TR ¢l

(B) HI & TY T W T W-3RA ST ¢

(C) ¥ o AW &7 H AN 8l

(D) 7§ 2,4t Thew T B

Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 19 Question Id : 26723610839 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Glycerol is added to soap. It

(A) actsasafiller

(B) increases leathering

(C) prevents rapid drying

(D) helps in making soap granules.
Options:

1.¢A

2. % B

3.% C

4. %# D

Question Number : 19 Question Id : 26723610839 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



TRYd 99T H Wl o gl 9@

(A) TP WG & &Y & &l g

(B) I TGI &

(C) ooft ¥ gEm ¥ Joar §

(D) WE & T ¥ § Aeg w8l
Options :

1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 20 Question Id : 26723610840 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In a criminal case, the police inspector suspected some changes in the documents had

been carried out. He sent the document to forensic department to check the ink used

at two different places. According to you, which technique can give the best results?

(A) Column Chromatography

(B) Solvent extraction

(C) Thin layer chromatography

(D) Distillation
Options :



1.9 A

3.% C

4. % D

Question Number : 20 Question Id : 26723610840 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
TP RS AMd # I SWa & o gofl fb Sadidel # 39
e fFT M § | I & S-S WA W I B At @l
Pl 99 & U cxaow ORRG faum 1 W6 AUd ER, dH 9l

T Tod 3T URUMH & Tl 82
(A) PBITH PIHCITE!
(B) Wiede frwpe

(C) Udell TRd HIACHTD!

(D) 39
Options :

1.¥A
2. % B
3.% C

4. % D

Question Number : 21 Question Id : 26723610841 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following should behave electron deficient compound?

(A) SiCla

(B) BF;

(C) Both (A)and (B)

(D) Neither (A) nor (B).
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 21 Question Id : 26723610841 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

ffafad & ¥ fFusl saaH @t o aa Al & TaR el
EIE

(a) sicl,

(B} BF:

() JW & G

(0) TW ¥ FE R T
Options :

1.¥A

2. % B



3.% C

4. %D

Question Number : 22 Question Id : 26723610842 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
If the concentration of glucose in blood is 1.8 g/L , what will be the molarity of

glucose in blood?

(A) 0.1M

(B) 0.001M

(C) 1.01M

(D) 0.01M
Options :
1.¥ A

2. % B
3.% C

4. %D

Question Number : 22 Question Id : 26723610842 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



afe e & @S @ w@udl 1.8 TH/AR 8, o W A q@E @i
Treifet @1 gl

(&) 0.1 M
(B) 0.001M
(C) 1.01M

(D} 0.01 M
Options:
1.¥ A
2. % B
3.% C

4. % D

Question Number : 23 Question Id : 26723610843 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The proton magnetic resonance is studied in which region of the spectrum

(A) Radio frequency region
(B) Infra-red Region
(C) Microwave region

(D) Visible region
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 23 Question Id : 26723610843 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Waeh & 59 &7 ¥ ticd deom o &1 g far o 8

(2) fea wied &x

(B) SIS &

(C) TTZehldd &

(D) TXTAN &F
Options :

1.¥A
2. % B
3.%C

4. % D

Question Number : 24 Question Id : 26723610844 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Suppose that 0.50 mg of precipitate is lost as a result of being washed with 500 M| of
wash liquid. If the precipitate weights 250 mg, the relative error due to solubility loss

is:

(A) 0.1%

B) -0.2%

(C) 0.01%

(D) 0.1%
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 24 Question Id : 26723610844 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

A i i 500 fdicicr 9@ ffds & TY U 99 & IRUFRGRY
0.50 A 3@Auu @ War g1 e /@AY &1 gvH 250 AR g,

@ gl § HH & BRU Any IR €
(A) =-0.1%
(B) =-0.2%
(C) 0.01%



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 25 Question Id : 26723610845 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
For a reversible reaction, if the concentration of the reactants is Tripled, then the

value of equilibrium constant

(A) becomes1/9

(B) becomes 3 times

(C) becomes1/3

(D) remains the same
Options:

1.9 A

2. % B

3. % C

4. %D

Question Number : 25 Question Id : 26723610845 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



vfaad feferar & fo, afe sfiere @) igar &7 T se1 fear om
dl Sqar RRI® @1 7F

(R) 1/9 T §9 9 @
(B) 3 71 @ W &
(C) 1/3 T §9 W @

(D) T g F/A §

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 26 Question Id : 26723610846 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Alisha took a clean copper wire and heated the tip of a copper wire in a burner flame
until no further coloration of the flame was noticed. She allowed the wire to cool
slightly, then she dipped it into the unknown organic compound, and again heated it
in the flame. A green flash is obtained. Name the organic functional group detected by

Alisha-

(A) Fluorine

(B) Benzene

(C) Chlorine

(D) Carboxylic acid
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 26 Question Id : 26723610846 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A 3 UH Y% dfd BT aR forr 3R U6 &R & § did & dR Bt
TP & T 5y 8 7@ & @ B P AR W T @ W Ig IR
@ g1 391 fra , iR SE SR oF e dfe § g, ok
fior @ @t # A fBU1 TH T B W @ S g1 S gRI
Ul T PG PAED GUE BT AH-

(R) TRRH

(B) &l

(C) FARH

(D) PreiRE TRe
Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 27 Question Id : 26723610847 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



On performing a flame test with Potassium, Calcium and Barium , the colour visible in

blue glass are ; and respectively

(A) pink, yellow, bluish-green
(B) violet, brick red, grassy green
(C) Golden-yellow, Violet, crimson-red

(D) Brick red, yellow , grassy green
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 27 Question Id : 26723610847 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

ueREw, Sfamm R am F Ty @ e s ), Fa9 o
ﬁﬁ@ﬁéﬁmﬁm:_

(2) e, i, Jied-g7

(B) T, 3¢ @@, U &

(C) ggwr-dlen, dmcie, fobwe-ar

(D) % @@, dar, TN
Options :



1.9 A

3.%C

4. % D

Question Number : 28 Question Id : 26723610848 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is used as an indicator in the titration of iodine with sodium

thiosulphate solution?

(A) Methyl red

(B) Bromothymol Blue

(C) Starch

(D) Phenolphthalein
Options:

1.4 A

2. % B

3. % C

4. % D

Question Number : 28 Question Id : 26723610848 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



frofafed & ¥ Sfeew yriere 9 & Y SRISH & A H B
T Gbdd & &Y H IUAN a7 Wl § -

(R) fAYEH ¥ (Methyl red)
(B) g & (Bromothymol Blue)

(C) wH (Starch)

(D) U4 (Phenolphthalein)
Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 29 Question Id : 26723610849 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following dienes cannot undergo Diels-Alder reaction?

(A)

(B)

(©)

(D)

QO

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 29 Question Id : 26723610849 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



fofafea 7 9 ®H ¥ dienes SIE-TET gfafear ( Diels-Alder
reaction ]ﬁ :l_E;Pf LIS gad %.?

Bl AN
)\f
(C) @

Options :
1. A
2. % B
3.% C

4. % D

Question Number : 30 Question Id : 26723610850 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Current passing through 3 resistance is

A

B
30

C

(A) 14/3A

(B) 3A

(€) 2A

(D) 12/5A
Options :
1.4 A

2. % B

3.% C

4. % D

Question Number : 30 Question Id : 26723610850 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



YRT 3Q resistance ® HIeAH ¥ RIH G| %

A

1qu_.— 20 1

4V

(BA) 14/3 A

(C) 2 A

(D} 12/5 A
Options :

1.¥A
2. % B
3.%C

4. % D

Question Number : 31 Question Id : 26723610851 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



When a monochromatic light passes from one medium to another medium of
different refractive index, which of the following characteristic of light does not

change?

(A) Velocity

(B) Frequency

(C) Wavelength

(D) None of these
Options :

1.9 A

2. % B

3.% C

4. % D

Question Number : 31 Question Id : 26723610851 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



W @ AMmiEce yor Ofid suade qEeie & 1@ oYW ¥ gl
e § ERA 8, @ YR @ Fgfafed fodva § @ o @
SGadl 82

(D) T ¥ B3 Tl

Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 32 Question Id : 26723610852 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Two mutually perpendicular plane mirrors are shown in diagram. A ray of light is
incident on one of the mirrors at an angle 0. For what value of 0 the ray emerges

parallel to the incoming ray after reflection from both the mirrors?

(A) 60°

(B) 30°

(C) 45°

(D) All of these
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 32 Question Id : 26723610852 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



g ¥ ¢ IRWRS ¥U ¥ dead v fewm M §l e #
fiRo 1% B0 0 R TG0 F ot 3 | B0 BT T vaALUE R IR
T 3t & dlid gl quul § Ufdfd & SIG o aTel fbRu UepTe
Bl R0 & FHAIR © |

(A) 60°

(B) 30°

(C) 45°

(D) IR gt

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 33 Question Id : 26723610853 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A charge moving in a magnetic field always has

(A) constant velocity

(B) constant kinetic energy

(C) straight line path

(D) circular path
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 33 Question Id : 26723610853 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

U6 GEDI &3 # domdral A% P UM Bl §

n) RR @

® R 7w e
(C) e v Ty
(D) TSR Y
Options :

1.¥A



3.%C

4. % D

Question Number : 34 Question Id : 26723610854 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
When a neutron converts itself into a proton, two particles are emitted. One particle

is charged and the other is

(A) electron

(B) positron

(C) neutrino

(D) antineutrino
Options :

1. A

2. % B

3.%C

4. % D

Question Number : 34 Question Id : 26723610854 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



e P8 Yo W @) U # §ed 0 & @ 4 o0 I« g &
& &Y 916 gidl ¢ 3R GOVl ©

(2) ZddcH
(B) Tforei

Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 35 Question Id : 26723610855 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The reason behind blue colour of sky on a clear, sunny day is

(A) dispersion of light

(B) scattering of light

(C) reflection of light

(D) refraction of light
Options:

1.¥A



3.%C

4. % D

Question Number : 35 Question Id : 26723610855 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

& Wy, YU 1 oA W e & Aid ¥ & 6y & R §

(B) YH F Bad

(B) vy @ fowwa

(C) ypE o yfafds

(D) PN P 3UddH

Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 36 Question Id : 26723610856 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A loop of area A enters a region of magnetic field at position -1and it is leaving the

field at position -2 . The direction of induced current in the two cases will be

ORONONONONONONO]
ORONONONONONONO]
ONONONONONONONO,
>

oNoNoNoNoNONONO]
oNoNoNoNONoNONO]

ol oNoRoRoNoNoNo)
(1) 2)

(A) anticlockwise, clockwise.

(B) clockwise, anticlockwise.

(C) clockwise, clockwise.

(D) anticlockwise, anticlockwise.
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 36 Question Id : 26723610856 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



& 29 @ @ R -1 ® edty &7 & @ &1 ¥ WY awar @
R 78 R -2 ® &7 ol @ 81 ¢ 7war # Ma emr R gef

ONORONONORONONO
ONORONONORNORONO
ONORONONONONONO
—

ONORONONONORONO
ONORONONONONONO

ofoloNoNoNoNoNo
(1) @

(A) gmHIGd, SOMEd| (anticlockwise, clockwise.)

(B) a’f&wﬂa?f, A | (clockwise, anticlockwise.)

(C) ETEWﬂﬁEf, ET"WHEEFI (clockwise, clockwise.)

(D) gEyad, dMEd| (anticlockwise, anticlockwise.)
Options :

1.¥A
2. % B
3.% C

4. % D

Question Number : 37 Question Id : 26723610857 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A charge ‘q" is placed at the midpoint of the line joining two equal charges ‘Q’. All

these three charges will be in equilibrium if ‘Q/q’ is equal to

(D) 4
Options :
1.¥A
2. % B
3.% C

4. # D

Question Number : 37 Question Id : 26723610857 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

& 9 'qr @ 3 FE A g B Wigd drl asd & 1 g W
@ TRl A dF e dge § dm Al o/gr B

(a) -4

(D) 4
Options:

1.¥A

2. % B



3.% C

4. %D

Question Number : 38 Question Id : 26723610858 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The reactance of a pure inductor at 60 Hz is 10 Q). What will be its reactance at 120

Hz ?

(A) A 100

(B) B.20Q

() G50

(D) D.25Q
Options :
1.4 A

2. % B

3. % C

4. # D

Question Number : 38 Question Id : 26723610858 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



60 E:"cff‘l W Yx R (inductor) @ giafsrar (reactance) 10Q %I
120 8ol W 39! ufafear & gnflo

(A) 10 Q

(D) 2.5 Q
Options :

1.¥A
2. % B
3.% C

4. % D

Question Number : 39 Question Id : 26723610859 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
If c = speed of light, then

(A) pogo=c¢C

{B) LoBo = £

(C) croeo=1

(D) c?peep=1
Options:
1.¥A

2. % B



3.% C

4. %D

Question Number : 39 Question Id : 26723610859 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

gfe ¢ = USRI Pt A, o

(A) ey = ¢

(C) cpeen = 1

(D) cuegg = 1
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 40 Question Id : 26723610860 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Torque acting on a current loop having magnetic moment ﬁm in a uniform magnetic

field Bis equal to

(A) b xB

(©)

D) p
BE

Options :

1.4 A

2. % B

3.% C

4. % D

Question Number : 40 Question Id : 26723610860 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Wﬂﬂﬁﬂaﬂ’ﬂqaﬂ B # P magnetic moment alﬁﬁagam
T W W G adl T §

(A)

;_)mx|-3

(D) P

B
Options :
1.¥ A
2. # B
3.% C

4. % D

Question Number : 41 Question Id : 26723610861 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Calculate the charge on the second capacitor before and after switch in the circuit is

opened

(A) 0,CE/2

(B) 0,0

(C) CE0

(D) CE,CE/2
Options :
1.¥ A

2. # B

3.% C

4. % D

Question Number : 41 Question Id : 26723610861 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



dfbe # f&g o1 ¥ TBd ok 9 H gW PO W TN @I T0AI
Gy

(A) 0, CE/2

(C) CE, 0

(D) CE, CE/2
Options :

1.¥ A
2. % B
3.% C

4. % D

Question Number : 42 Question Id : 26723610862 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25



Large quantity of sludge is generated in wastewater treatment, how can this sludge

be treated?

(A) By anaerobic digesters

(B) By chemicals

(C) By oxidation pond.

(D) By floc formation
Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 42 Question Id : 26723610862 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

mmwwffﬁﬂmﬁsludgewm%, ¥ sludge
P SUER P4 A W Wb 22

(&) TIRfAF IEOR R
(B) TWRAI ¥

(C) i T gRI|
(D) floc W37 T
Options :

1.9 A

2. % B



3.% C

4. %D

Question Number : 43 Question Id : 26723610863 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The reservoir for the gaseous type of bio-geo chemical cycle exists in

(A) stratosphere

(B) atmosphere

(C) ionosphere

(D) lithosphere
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 43 Question Id : 26723610863 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



g 5oR & %-H—Wﬁﬁ I5 & ﬁ"m{ reservoir
A &

(&) UUAY HEW (stratosphere)

(B) QAR (atmosphere)

(C) MTARBIR  (ionosphere)

(D) RTAHSA (lithosphere)
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 44 Question Id : 26723610864 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
How can we get rid of algae present in water?

(A) Aeration
(B) Ultrasound
(C) Chemicals like alum

(D) All of these
Options :

1.¥ A



3.%C

4. % D

Question Number : 44 Question Id : 26723610864 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

T UMt # AN YA (algae ) U $HY FEHRI U1 IHd g2

(C) flhewdl S WA

(D) JIRIgd TH

Options :
1.¥ A
2. # B
3.% C

4. % D

Question Number : 45 Question Id : 26723610865 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



It is easiest to remove from wastewater.

(A) Colloids
(B) Dissolved solids
(C) Suspended solids

(D) Bacteria
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 45 Question Id : 26723610865 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Gﬁm ult] (wastewater) ﬁ ~ BCHl ﬂaﬁ CIGIE] %

(A) ®IAREH (Colloids)

(B) el GU B (Dissolved solids)

(C) fcifed 3N (Suspended solids)

(D) WG (Bacteria)

Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 46 Question Id : 26723610866 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In which of the following place it will be difficult to find Methanogenic bacteria?

(A) bottom of water-logged paddy fields

(B) rumen of cattle

(C) gobar gas plant

(D) activated sludge
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 46 Question Id : 26723610866 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



fFefafed # & fou o § Aurie s e gea gme

(A) TAWE I ¥H & Gdl & A

(B) walRm & wAA

(C) TR TN wie

(D) activated sludge
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 47 Question Id : 26723610867 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find out the missing term.

0.6,2.4,9.6,38.4,

(A) 146.6
(B) 151.2
() 2z

(D) 153.6
Options:

1.¥A



3.%C

4. % D

Question Number : 47 Question Id : 26723610867 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
@I g8 &I Udl |

0.6, 2.4, 9.6, 38.4,

(B) 146.6

(B) 151.2

(C) 112

(D} 153.6
Options :

1.9 A
2. % B
3.%C

4. % D

Question Number : 48 Question Id : 26723610868 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



‘Laugh’ is related to ‘Cry’ in the same way as ‘Catch’ is related to

(A) Thief

(B) Match

(C) Release

(D) Try
Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 48 Question Id : 26723610868 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
‘Laugh’ 1is related to ‘Cry’ in the same way as ‘Catch’ 1is

related to
(A) Thief
(B) Match

(C) Release

(D) Try
Options :
1.+ A
2. % B

3.% C



4. % D

Question Number : 49 Question Id : 26723610869 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
If BLAST is written as DNCUV. How is AREAS written as?

(A) CTGCU

(B) BSFBT

(C) BTGCT

(D) CSGBU
Options:
1.¥ A

2. % B
3.%C

4. % D

Question Number : 49 Question Id : 26723610869 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



3R BLAST @ pncuv forgl o €1 areas @ fog ®v & for@r o
22

(A) CTGCU

(B) BSFBT

(C) BTGCT

(D) CSGBU
Options :

1.9 A
2. % B
3. % C

4. %D

Question Number : 50 Question Id : 26723610870 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In a class, 32 students disqualify in a test. Abhishek ranks 15" from the top and 19"
from the bottom among the qualified students. How many students are there in the

class?
(A) 66
(B) 67
(C) 64

(D) 65
Options :
1.¥A
2. % B
3.% C

4. # D

Question Number : 50 Question Id : 26723610870 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

TF S H 32 BF @ Wl ¥ oy Ot g 919 &1 PiwEe
T3 b 99 ofde o A 153 ok SN ¥ 108 ”A R 1 T
H foad ¥SeH 82

(A) 66
(B) 67
(C) 64



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 51 Question Id : 26723610871 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Going 50m to the south of her house, Seema turns left and goes another 20m. Then,

turning to the North, she goes 30m and then starts walking to her house. In which

direction is she walking now?

(A) North-west

(B) North

(C) South-west

(D) East
Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 51 Question Id : 26723610871 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



I W & < F 50 Hex B gt W, @ 98 gedt § 3R 20 diR
@ ot W ordt 31 R, IW B AR geaw, 8 30 Hiex ot @ &R
fiR 3o W F AR I L& PR odl ¢ I8 3@ [y G § Tq@ W

(2) JWwW ufym
(B) T
(C)  oféur- iy

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 52 Question Id : 26723610872 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Looking at a portrait of a man, Harsh said, “His mother is the wife of my father’s son.

Brothers and sisters | have none.” At whose portrait was Harsh looking?

(A) Hisson

(B) His cousin

(C) Hisuncle

(D) His nephew
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 52 Question Id : 26723610872 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

% To0 & fuF B e@eR gy 3 Fel, I9e ° W e & ¢ I vl
g TR % WE-gg7 &I g1 &Y fhuen R 3@ @

(B) der
(B) TR B
(C) dm=n
(D) Yo
Options :

1.¥A



3.%C

4. % D

Question Number : 53 Question Id : 26723610873 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In a secret way of writing, INDIA HAS WON FIRST GOLD MEDAL is written as JFZJU

OUV SEF PJDVB REQZ ITZUQ. Bearing the method in mind, pick up the code from the

answer choices for the word:

DIESEL

(A) ZTvTQ

(B) ZTQVT

(C) ZIEv1Q

(D) BZTETV
Options :
1.9 A

2. % B

3. % C

4. % D

Question Number : 53 Question Id : 26723610873 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



g7 & U6 T Rld ¥, INDIA HAS WON FIRST GOLD MEDAL !

JFZJU OUV SEF PJDVB REQZ ITzUQ & U ¥ forar mar g1 Ry &
oF # W@d gY, MEliied I & S doddi § 9 ol gH:

DIESEL

(A) ZJTVTQ
(B} ZJTQVT
(C) ZJEVTQ

(D} BZTETV
Options :
1.¥ A

2. % B

3. % C

4. % D

Question Number : 54 Question Id : 26723610874 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The statement given below is followed by two arguments numbered [ and II.
You have to decide which of the following arguments a “strong™ argument is
and which a “weak™ argument is.

Statement: Should the vehicle of anyone driving without a license be
impounded?

Arguments: 1. Yes. Driving without a license is in violation of law.

[I. No. Sometimes people hesitate to keep the original
license with them at all times due to the fear of
misplacing them.

(A) Ifonly argument I is strong

(B) If only argument II is strong

(C) If neither I nor II is strong

(D) If both I and II are strong
Options:

1.¥A

2. % B

3.% C

4. % D

Question Number : 54 Question Id : 26723610874 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



HR R T HT $ aic QT B GEI 1 3R 11 B | HMUP T 0@
oo 2 o Feffee o@l & ¥ @ W raoige 9b g ok BF @
@ "HUGR" 7@ ¢l

T TF AREE F O R P gU Rl F o @t v R
WM 9lfgee
b 1 gl fo aRdY ¥ mE @ S & I@e §

1T Tl % R A Tod oE W F R & PRU g
EAY B B I U UM T@H ¥ BRI g

(R) 3f¢ Had dd 1 HEQ &

(B) 3f§ Had db 11 HISE €

€ gRIF 1 IR 11 7oy ?

(D) 3G 1 3R 11 I AU §
Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 55 Question Id : 26723610875 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In this question, the first and the last parts of the sentence are numbered 1 and 6. The
rest of the sentence is split into four parts and named P, Q, R, and S. These four parts
are not given in their proper order. Read the sentence and find out which of the four
combinations is correct. Then find the correct answer.

The landscape

With Nature displaying
Here is awesome
That are seldom

A range of delights
Seen together

o w0

(A) PSRQ

(B) QPSR

(C) RsSPQ

(D) QRSP
Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 55 Question Id : 26723610875 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In this question, the first and the last parts of the
sentence are numbered 1 and 6. The rest of the sentence 1is
split into four parts and named P, Q, R, and S. These four
parts are not given in their proper order. Read the
sentence and find out which of the four combinations 1is
correct. Then find the correct answer.

1. The landscape

P. With Nature displaying
Q. Here is awesome

R. That are seldom

S. A range of delights

6. Seen together

(A) PSRQ

(B) QPSR

(C) RSPQ

(D) QRSP
Options :

1.¥ A
2. % B
3.% C

4. % D

Question Number : 56 Question Id : 26723610876 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Select the pair that has the same relationship as the given pair of words.

Restaurant : Menu

(A) Library: Catalogue

(B) Journal : Newspaper

(C) Book: Encyclopaedia

(D) College : Account
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 56 Question Id : 26723610876 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Select the pair that has the same relationship as the
given pair of words.

Restaurant : Menu

(&) Library : Catalogue

(B} Journal : Newspaper

(C) Book : Encyclopaedia

(D) College : Account
Options :

1.¥A



3.%C

4. % D

Question Number : 57 Question Id : 26723610877 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Select the word from the words A,B,C,D that exhibits the same analogy as established
among the given words below.

Oxygen : Burn :: Carbon Dioxide : ?

(A) Isolate

(B) Foam

(C) Extinguish

(D) Explode
Options :
1. A

2. % B
3.%C

4. % D

Question Number : 57 Question Id : 26723610877 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Select the word that exhibits the same analogy as
established among the given words below.

Oxygen : Burn :: Carbon Dioxide : ?

(A) Isolate

(B) Foam

(C) Extinguish

(D) Explode
Options :
1.¥A

2. % B

3.% C

4. # D

Question Number : 58 Question Id : 26723610878 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Identify the analogy in the given set. Choose the option that exhibits the same
analogy.

Botany : Plants ::

(A) Geology : Earth

(B) Stars : Astronomy

(C) Teacher: Class

(D) Disease : Etiology
Options :

1.¥ A



2. % B
3.% C

4. % D

Question Number : 58 Question Id : 26723610878 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Identify the analogy in the given set. Choose the option
that exhibits the same analogy.

Botany : Plants

(A) Geology : Earth

(B) Stars : Astronomy

(C) Teacher : Class

(D) Disease : Etiology
Options:

1.¥A

2. % B

3.% C

4. % D

Question Number : 59 Question Id : 26723610879 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Choose the alternative which best expresses the meaning of the idiom/.phrase given
below.

To get the hang of a thing

(A) Toknow a secret

(B) To understand the meaning of it

(C) To find the cause of something

(D) None of these
Options :

1.¥A

2.%B

3.% C

4. % D

Question Number : 59 Question Id : 26723610879 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Choose the alternative which best expresses the meaning of
the idiom/.phrase given below.

To get the hang of a thing

(L) To know a secret

(B) To understand the meaning of it

(C) To find the cause of something

(D) None of these
Options :



1.9 A

3.%C

4. % D

Question Number : 60 Question Id : 26723610880 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Find the incorrectly spelt word.

(A) Pneumonia

(B) Diarrheoa

(C) Xenophobia

(D) Amnesia
Options :
1.¥A

2.% B

3. % C

4. % D

Question Number : 60 Question Id : 26723610880 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Find the incorrectly spelt word.

(A4) Pneumonia

(B) Diarrheoa

(C) Xenophobia

(D) 2Amnesia
Options :

1.¥ A
2. % B
3.%C

4. % D
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